
CHEMISTRY

BOOKS - CBSE COMPLEMENTARY MATERIAL

CHEMISTRY (HINGLISH)

PRACTICE PAPER 3

Section A

1. Helical structure of protein is stabilised by

A. peptide bonds

B. vanderwall force

C. hydrogen bonds

D. dipole-dipole attraction

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jPTJopqnX1vF


Answer:

Watch Video Solution

2. When alkaline  is treated with KI, the iodide ion is

oxidised to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

KMnO4

I2

IO−

IO−
3

IO
−
4

https://dl.doubtnut.com/l/_jPTJopqnX1vF
https://dl.doubtnut.com/l/_IgbM9ZxtUFtq


3. Which of the following is correct

A. aq Cu (II) is more stable

B. aq.Cu(II) is less stable

C. aq Cu(I) and aq Cu(II) are equally stable

D. Stability of Cu(I) and aq Cu (II) depends on nature of salt

Answer:

Watch Video Solution

4. The method by which freshly prepared precipitate sometimes

gets converted to colloidal solution

A. Co-agulation

B. electrolysis

https://dl.doubtnut.com/l/_dYlg00OaRTJD
https://dl.doubtnut.com/l/_3lTEMmcmvyaU


C. diffusion

D. peptisation

Answer:

Watch Video Solution

5. In coparison to a 0.01 M solution of glucose, the depression in

freezing point of a 0.01 M  solution is……

A. the same

B. about twice

C. about three times

D. about six times

Answer:

Watch Video Solution

MgCl2

https://dl.doubtnut.com/l/_3lTEMmcmvyaU
https://dl.doubtnut.com/l/_A9YeWikRbLDv


Watch Video Solution

6. The most reactive amine towards dilute hydrochloric acid is…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − NH2

(CH3)2NH

(CH3)3N

C6H5 − NH2

7.  is equal to

A. 

B. 

∧2
in H2O

∧∘
in (HCl) + ∧∘

in (NaOH) − ∧∘
in (NaCl)

∧∘
in (HNO3) + ∧∘

in (NaNO3) − ∧∘
in (NaOH)

https://dl.doubtnut.com/l/_A9YeWikRbLDv
https://dl.doubtnut.com/l/_TcEEVbSPCDMH
https://dl.doubtnut.com/l/_Pe71H4xgXlGC


C. 

D. 

Answer:

Watch Video Solution

∧∘
in (HNO3) + ∧∘

in (NaOH) − ∧∘
in (NaNO3)

∧∘
in (NH4OH) + ∧∘

in (HCl) − ∧∘
in (NH4Cl)

8. Match the items given in Column I with items given in column II.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(i) Ranitidine (ii)  Tranquilizer

(ii) Furnace (ii) Antibiotic

(iii) Phenelzine (iii) Antihistanine

(iv) Chloramphenicol (iv) Antiseptic

https://dl.doubtnut.com/l/_Pe71H4xgXlGC
https://dl.doubtnut.com/l/_L08mKKt9VH9E


Very Short Answer Type Questions

9. Assertion : Order of the reaction can be zero or fractional. 

Reason : We cannot determine order from balanced chemical

equaltion.

A. Assertion and reason both are correct statement but

reason does not explain assertion.

B. Assertion and reason both are correct and reason explains

the assertion.

C. Assertion is correct but reason is incorrect.

D. Both assertion and reason are incorrect.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YmA3E839pgxU


1. On mixing equal volume of water and ethanol, what type of

deviation would you expect from Raoult's law?

Watch Video Solution

2. What happens when blood cells are placed in pure water?

Watch Video Solution

3. Arrange the following in order of reactivity forwards SN2

displacement: 1-Bromobutane, 1-Bromo-2-methylbutane, 1-Bromo-

3-methylbutane

Watch Video Solution

https://dl.doubtnut.com/l/_OfRy2E9Telsk
https://dl.doubtnut.com/l/_gLVkDYLQQMUs
https://dl.doubtnut.com/l/_D8yo9sYVYo0a


4. Write IUPAC name of 

Watch Video Solution

[Pt(en)2Cl2].

5. Using IUPAC norms write formula of the following: Potassium

trioxalatochromate(III).

Watch Video Solution

6. Explain what is observed when an electrolyte, NaCl is added to

Sol?

Watch Video Solution

https://dl.doubtnut.com/l/_NKNgxwn1lw7n
https://dl.doubtnut.com/l/_qUgRsdfMgEXe
https://dl.doubtnut.com/l/_OKRcS5eht4nI


7. Sulphur has greater tendency for catenation than oxygen.

Explain.

Watch Video Solution

8. Give reason to explain why  exists but  does not exist.

Watch Video Solution

ClF3 FCl3

9. Define an ideal solution.

Watch Video Solution

10. Define Raoult's law for a solution containing volatile liquids.

Watch Video Solution

https://dl.doubtnut.com/l/_bQiqMNMAc2h0
https://dl.doubtnut.com/l/_JJ5P5glAEiXm
https://dl.doubtnut.com/l/_FZ4HshbmiivU
https://dl.doubtnut.com/l/_Blm3eode9x30


11. The IUPAC name of  is:

Watch Video Solution

CH3 − CH = CH − COOH

12. Which one of the two component of starch is water soluble?

Watch Video Solution

13. Prepare aspirin from phenol.

Watch Video Solution

14. Complete the following reactions : 

Watch Video Solution

NH3 + Cl2(excess) →

https://dl.doubtnut.com/l/_Blm3eode9x30
https://dl.doubtnut.com/l/_iX83iVQuoywP
https://dl.doubtnut.com/l/_YWYrfwBIv6Og
https://dl.doubtnut.com/l/_jp5uq4jO6beN
https://dl.doubtnut.com/l/_3hSa1eIgtKwF


15. Complete the reaction 

Watch Video Solution

MnO2 + HCl
Δ

−−→

16. What is tincture of lodine? Write its one use

Watch Video Solution

17. Among the following which one acts as a food preservative ? 

Aspartame, Aspirin, Sodium benzoate , Paracetamol .

Watch Video Solution

18. Write the principle of method used for refining of germanium.

https://dl.doubtnut.com/l/_3hSa1eIgtKwF
https://dl.doubtnut.com/l/_zncWlavRhkjW
https://dl.doubtnut.com/l/_NPOih30vTaME
https://dl.doubtnut.com/l/_xswsPVzwy0iH
https://dl.doubtnut.com/l/_mrH0QnjKoigu


Watch Video Solution

19. Out of PbS and , which one is concentrated by froth

floatation process preferably?

Watch Video Solution

PbCO3

20. Account for the following: 

The lowest oxide of transition metal is basic whhereas the highest

oxide is amphoteric or acidic.

Watch Video Solution

21. Orange colour of  ion changes to yellow when treated

with an alkali. Why ?

Watch Video Solution

Cr2O
2 −
7

https://dl.doubtnut.com/l/_mrH0QnjKoigu
https://dl.doubtnut.com/l/_F9lVz0Q6ERu2
https://dl.doubtnut.com/l/_yoAGYEtNss7h
https://dl.doubtnut.com/l/_1R05862QAYN2


Watch Video Solution

22. Chemistry of actionoids is complicated as compared to

lathanoids. Give reason

Watch Video Solution

23. How is the variability in oxidation state of transition metals

different from these of p-block elements ?

Watch Video Solution

24. Write the mechanism of following reaction : 

 


How do you convert the following 

Phenol to anisol

2CH3CH2 − OH
Conc,H2SO4

−−−−−−→
413K

CH3CH2 − O − CH2 − CH2

https://dl.doubtnut.com/l/_1R05862QAYN2
https://dl.doubtnut.com/l/_Mgq2v4UNw6ne
https://dl.doubtnut.com/l/_38j0Uh2GU5pQ
https://dl.doubtnut.com/l/_RPP33HumF8cW


Watch Video Solution

25. How do you convert the following 

Propan-2-ol to 2-methyl propan-2-ol

Watch Video Solution

26. Write short notes on biodegradable polymer? Give one

example.

Watch Video Solution

27. Write one structural difference between low density polythene

and high density polythene.

Watch Video Solution

https://dl.doubtnut.com/l/_RPP33HumF8cW
https://dl.doubtnut.com/l/_g8CxUXveHFIb
https://dl.doubtnut.com/l/_FnsV9igvrfcf
https://dl.doubtnut.com/l/_ULyKvW2NU6Za


28. Write IUPAC names of the monomers of Terylene.

Watch Video Solution

29. When  is fused with KOH in the presence of  as

an oxidising agent, it gives a dark green compound (A).

Compound (A) disproportionates in acidic solution to give purple

compound (B). An alkaline solution of compound (B) oxidises KI to

compound (C) whereas acidified solution of compound (B)

oxidises KI to (D). Identify A, B, C and D.

Watch Video Solution

MnO2 KNO3

30. Complete the reaction. 

Watch Video Solution

MnO4 + S2O
2 −
3 + H2O →

https://dl.doubtnut.com/l/_RsMgzSUBFB1z
https://dl.doubtnut.com/l/_7VyZFmbnZvbl
https://dl.doubtnut.com/l/_dPma24UzLV4t


31. When chromite ore  is fuse with NaOH in presence of

air, a yellow coloured compound (A) is obtained which on

acidification with dilute sulphuric acid gives a compound (B).

Compound (B) on reaction with KCl formas an orange colured

crystalline compound (C). 

(i) Write the formulae of the compounds (A),(B) and (C). 

(ii) Write one use of compounds (C).

Watch Video Solution

FeCr2O4

32. Complete the reaction. 

Watch Video Solution

Cr2O
2 −
7 + Sn2 + + 4+ →

https://dl.doubtnut.com/l/_dPma24UzLV4t
https://dl.doubtnut.com/l/_Jyhto5K3il3A
https://dl.doubtnut.com/l/_r4maZm1M7JlR


Section C

1. What is the difference between nucleoside and nucleotide?

Watch Video Solution

2. Why vitamin C can not be stored in our body?

Watch Video Solution

3. Which one of the following is a non reducing sugar : Glucose,

maltose, sucrose

Watch Video Solution

https://dl.doubtnut.com/l/_cJjnQ7gJvsim
https://dl.doubtnut.com/l/_rMIY7cSqS52S
https://dl.doubtnut.com/l/_txnzDE8kU90F


4. Write structures of A, B, C, D, E, F inthe following reactions : 

Watch Video Solution

5. Give one example each of associated colloid and multimolecular

colloid.

Watch Video Solution

6. Out of  and KCl, which is more effective in causing

coagulation of a negatively charged colloidal sol ? Give reason.

Watch Video Solution

BaCl2

https://dl.doubtnut.com/l/_7kLi6pf3lkcO
https://dl.doubtnut.com/l/_OAziDBOy8VtV
https://dl.doubtnut.com/l/_EdqD8zBFEZ0g
https://dl.doubtnut.com/l/_Fu3N46sfGiWl


7. What is the role of activated charcoal in gas mask?

Watch Video Solution

8. The following data were abtained during the first order thermal

decomposition of  at a constant volume : 


 

Calculate the rate constant. Given : Log 4 = 0.6021, log 2 = 0.3010)

Watch Video Solution

SO2Cl2

SO2Cl2(g) → SO2(g) + Cl2(g)

Experiment                    Times /s− 1                    Total pressure/atm

1                                            0                                       0.4

2                                          100                                     0.7

9. Following compounds are given to you. 2-Bromopentane, 2-

Bromo-2-methylbutanes, 1-Bromopentane 

(a) Write the compound which is mos reactive towards SN1

https://dl.doubtnut.com/l/_Fu3N46sfGiWl
https://dl.doubtnut.com/l/_bM2pmxhJot3q
https://dl.doubtnut.com/l/_dUPG3TGvRMbw


reaction. 

(b) Write the compound which is optically active. 

Watch Video Solution

10. Give reason for the following 

 reaction is accompanied by racemisation in optically active

alkyl halides.

Watch Video Solution

SN1

11. Give reason 

The dipole moment of chlorobonzene is lower than that of

cyclohexyl chloride.

Watch Video Solution

https://dl.doubtnut.com/l/_dUPG3TGvRMbw
https://dl.doubtnut.com/l/_ro8HjHOZUaIC
https://dl.doubtnut.com/l/_392wRpdpwzyJ
https://dl.doubtnut.com/l/_NXfX27ZNXcih


12. Give reason for the following 

When  group is present at ortho position of chlorobenzene

it increases the reactivity of chlorobenzene towards nucleophilic

substitution reaction.

Watch Video Solution

NO2

13. Draw geometrical isomer of 

Watch Video Solution

[Pt(NH3)2Cl2].

14. On the basis of crystal field theory, write the electronic

configuration of .

Watch Video Solution

d4  ion if △0 < P

https://dl.doubtnut.com/l/_NXfX27ZNXcih
https://dl.doubtnut.com/l/_iQQgaoNKmzFf
https://dl.doubtnut.com/l/_mJ5sY8uQCXQ2


15. Write hybridisation and magnetic behaviour of the complex

Watch Video Solution

[Ni(CO)4].

16. Which of the following is more stable complex and why?

Watch Video Solution

[CO(NH3)6]
3 +

and [CO(en)3]
3 +

17. A Co-ordination compound  is mixed with 

 2 moles of AgCl are precipitated per mole of compound.

Write the structural formula of complex.

Watch Video Solution

CrCl3.6H2O

AgNO3,

https://dl.doubtnut.com/l/_2X2gsyMTreUl
https://dl.doubtnut.com/l/_d7uBRC8ClVwG
https://dl.doubtnut.com/l/_Xcqu9RDRoBde
https://dl.doubtnut.com/l/_V2UETAmTSXAs


18. Why a solution of  is colourless?

Watch Video Solution

[Ni(CN)4]
2 −

19. Identify A in the following reactions :

Watch Video Solution

(C6H5CH2)2Cd + 2CH3COCl → A

20. (A), (B) and (C ) are three non-cylic funtional isomers of a

carbonyl compound with molecular formula . Isomers (A)

and (C ) give positive Tollen's test whereas isomer (B) does not

give Tollens' test but gives positive iodoform test. Isomers (A) and

(B) on reduction with  | conc. HCl give the same product

(D). 

(a) Write the structures of (A), (B) ,(C) and (D). 

C4H8O

Zn(Mg)

https://dl.doubtnut.com/l/_V2UETAmTSXAs
https://dl.doubtnut.com/l/_fFUehRcogVkA
https://dl.doubtnut.com/l/_QuIY6yuX7oIM


(b) Out of (A), (B) and (C ) isomers, which one is least reactive

towards addition of HCN ?

Watch Video Solution

21. (a) Prepare benzoic acid from Ethylbenzene. 

(c) Why  is lower than 

Watch Video Solution

pka  of F − CH2 _ −COOH

Cl − CH2 − COOH

22. Calculate the e.m.f. of the following cell at 298K: 

 


Given: .

Watch Video Solution

2Cr(s) + 3Fe2 + (0.1M) → 2Cr3 + (0.01M) + 3Fe(s)

E ∘
(Cr3 + /Cr )

= − 0.74V , E ∘
(Fe2 + /Fe )

= − 0.44V

https://dl.doubtnut.com/l/_QuIY6yuX7oIM
https://dl.doubtnut.com/l/_xHgDfxAwnZDi
https://dl.doubtnut.com/l/_9npfWSgo2HN8
https://dl.doubtnut.com/l/_IiOBMVxMYOp1


23. Why conductivity of electrolyte decreases with decreases in

concentration?

Watch Video Solution

24. State Faraday's first law of electrolysis.

Watch Video Solution

25. Define limiting molar conductivity.

Watch Video Solution

26. Ecell for the given redox reaction is

. 
2.71VMg(s) + Cu2 + (0, 01M) → Mg2 + (0, 001M) + Cu(s)

https://dl.doubtnut.com/l/_IiOBMVxMYOp1
https://dl.doubtnut.com/l/_MrEVh8zXipjq
https://dl.doubtnut.com/l/_Z3lWrKhcuMt2
https://dl.doubtnut.com/l/_T6U8NUWTHzRZ


Write the direction of flow of current when external potential

applied is greater than 2.71 V.

Watch Video Solution

27. Draw structure of 

Watch Video Solution

(i)XeOF4  (ii) HClO3

28. Account for the following 

(i) Fluorine forms only one oxoacid HOF 

(ii) Sulphur is paramagnetic is vapour state.

Watch Video Solution

https://dl.doubtnut.com/l/_T6U8NUWTHzRZ
https://dl.doubtnut.com/l/_CIka7F5NouY7
https://dl.doubtnut.com/l/_twTLbihPAwMW


29. Arrange in increasing order of boiling point

Watch Video Solution

H2O, H2S, H2Se, H2Te

30. What are the conditions to maximise yield of  in

contact process

Watch Video Solution

H2SO4

31.  has lower bond dissociation enthalpy than  Why?

Watch Video Solution

F2 Cl2.

32. Complete the equation XeF2 + PF5 →

https://dl.doubtnut.com/l/_w7kjDTVEBVZy
https://dl.doubtnut.com/l/_j22PAxd2L917
https://dl.doubtnut.com/l/_p1Txjy845kau
https://dl.doubtnut.com/l/_zJVWwzTasH2i


Watch Video Solution

33. There is large difference in boiling point of oxygen and

sulphur. Give reason.

Watch Video Solution

34. Ozone is thermo dynamically unstable. Explain

Watch Video Solution

https://dl.doubtnut.com/l/_zJVWwzTasH2i
https://dl.doubtnut.com/l/_sYSzQ3FvnEIs
https://dl.doubtnut.com/l/_Dn24sLdWQYUa

